New Maths GCSE: N2 - Negative Number Skills

What number is the arrow
pointing to?

——— T_,s ———
A) -5.5 B) -5.25
) 5.1 D} -4.75 | Ausenrash

What number is 3 less than -2?

B X @B s

B @ @ -+

What is the next number in the sequence?

-8.2 B -88

—9.0 B -10
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Which number is the closest to zero?

—5.78

What number is the arrow
pointing to?

1
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Correct Answer: ABCD
Explanation:
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Correct Answer: ABCD
What number is the arrow .
- Explanation:
pointing to?
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Correct Answer: ABCD

Explanation:
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What is the next number in the sequence?

_4-10 H _4.9 ..........................................................................

A -5 o [ S K
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Correct Answer: ABCD
Explanation:
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